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1. Propose a reasonable mechanism for the following transformation and provide the name of the
rearrangement,
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2. Provide the intermediate and product of the full sequence toward the synthesis of dynemicin
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3. Propose a reasonable mechanism for the following transformation and provide the name of the
reaction.
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4. a) Provide a plausible mechanism for the following ortho-C—H silylation/hydrogenation
reaction.

H SiEt;
Ru catalyst O
O _— O +  HSiEt, . =
cyclohexane O
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b) Provide an alternative route for the synthesis of the product shown above.
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5. Propose a reasonable catalytic cycle for the following transformation. (Hint: DQ represents

duroquinone.)
GN\ 10 mol%
N Ph

Ph H \“/N"Ar
NC Cs,C0; (150 mol%) NG H
| ° ' | ° DQ (100 moi%) -
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Ph FiC DMF, rt Ph CF;
H
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6. Provide a rational radical mechanism for the following [1+1+1] cycloaddition.
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